SRI LANKA

@evmInd BHeWIBSL (hdh OHTIHEL HILLUSIWIGVTENT SHIPHLD

gereuifl 2016 ufi_ens - AAL DL L LD
(January 2016 Examination - AA1 Level)

e BHEHID LIFIHGHINTHBLILL L 6)l6ML &HETHLD
umL @evsbsd - 12

QIWITUTTSHH MBI Heoonalluled (LPenMEB6NT

(QMB)

BevmIns HIHSL (hdh OBHTIOOBIL LONLTETTHET HLPSHLD
@60, 640, Geuedr. (WPMIHOHL HOUT YeHdH BHBIO OTOIHMS,
BTCrameiLil g, QsmupL - 05
@sm.Gu - 011 2 559 669

seval ppd LWINALN Wflelar gm Qeuefui®




(" N
@evmInad BHIHHL_ (hd QHTHE0 HILLIOIULIEOTEN] HLPHLD

&evadl LoBmId LUIBAN ifley
AA1 ufi ws — maneufl 2016
(12) dwmunysHmeTen Hevulwalluisd (LPemMEH6IT

L ufibglenyabalLr L ellenL_&beiT )

GBIBETHE elembsrer alenL&eT(OTQs)
16 sLLmw elenmaéssit

(Qurgsd 40 Lsitefaseir)

elem 013G UfbHenTHBULLL  elenL&6iT.

1.1 FflwmerellenL (4)
1.2 Qbs alanmellsd 7% euGLIbHS seflw aully aisomeigs 7% QIGLIHS Sl B Ul ly eiHLTang

1 eupL 2 Qu(pL 3eumBl . QUL 106u(HL 10 eugieubL
QFHTLEHBHFH0  COBT_S55HH0 OHLS6HSH0  QHT_SaHdHe0 COBT_HsHH®  (igaied

15000 15000 15000 15000

S=ARR"-1)
R-1
By substituting ; A =15000; 1°=7% =0.07;, R=1+r=1+0.07 = 1.07; oBmito n =0
S = 15000 X 1.07 % [(1.07)° - 1]
0.07
o5 221,754/-

S Fflwmer eflew (2)

1.3 GSHTEHMSL LWSLGHS;
r = nXxy - (£x) (Xy)
\/[n2x? - (£x)7] [nZy? - (Ty)*]
5(1159.7) - (311) (18.6)
\/[5(19359) - (311)?] [5(69.82) - (18.6)?]
13.59 / 15.2434
0.9119

-
Il

..g
Il

*. FflwrewellenL (1)
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1.4

1.5

1.6

1.7

1.8

1.9

1.10

1.12
1.13

BB (PpenB SellIGUTMlenuIll LIweTLGEHSH60.

gAHTUTFSSUULL eIl lg eiHd = X X P(x:x)

= (7.5 x0.10) (7.80 x 0.22) + (8 x 0.26) (8.6 x 0.20) +
(8.8 x0.15) + (9.5 x0.07)

= 8.251%

= 8.25 (2 51D FHTaHaev)

C.o Fflwmenr eflen (4)

wmped Gewsiomeng CV=S/x
When x=%x/n =50/4 =12.5 wBuub
S=[Z(x-Xx)?
n
25/5
25

Il
=

Il
o)

CVv=5/125 =04

*. FflwrenellenL (3)

FUTHA M (PpewB WBHID Qb6 aufsHs (penm
‘. FflwrenellenL (4)

Beopuli ('L ggrafl eleneod = X(p, / p,) W
FMUTS Zw
=(120 x 16) + (80 x 25) + (160 x 15) + (75 x 12) + (220 x 20)
(16 +25+ 15+ 12 +20)

=11620/88
=132.045
=132.04 2 5w FHTesHEHs0)

. FflwrenellenL (2)

P > V, Q > U; R —» T

C. FflwreellenL. (2)

emip (yewi® TN BEmHaEI0mLBUl a1ellenWITIOHTH LoenB RenewiliL] SHTeIlILIBBSH!)
5fl (HBSEHe0 GFevatears CHISoI 6l ABBfbsmE!)

Lenip

&l

emLp
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1.14 WBemIQUBLILL L QITHEN [HHBLDSHEH6) = 0.03

WBermIQuUBLILL L. euT&den elewreniibensd = 0.03

QLOTHSH CUTEHE 61611651 H6DH

6+11+x =0.03
600
17 +x =18
X =1
1.15 6+11+1+194+y+197 =600
y =600 - 409
y =191

1.16

P(SemtiQuptiun’ L/ “Prius™) P(SemtiQupti’ L N “Prius™)
P(*Prius”)
= 6/600
(6+11+1)/600
= 6/18

= 1/3

9fley 4 @eir Blenmey
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Abal ugHuied 2 siten 04 elembsEnd@D el wiefsbs.

Qurssd 32 Ysitefameir)

elemm 023@ UfbgHienrsaill L elenLdeil.
(@ 18+21+x+30+24+20+14 = 150
X = 150 - 127
X = 23
SLULST60LD et GLlpseledr | emowil Leier U=x-A fu fu?
(e Bwimevid) | stemienflbens  (f) (X) C
501-600 18 550.5 3 -54 162
601-700 21 650.5 2 -42 84
701-800 23 750.5 -1 23 23
801-900 30 850D A 0 0 0
901-1000 24 950.5 +1 24 24
1001-1100 20 1050.5 +2 40 80
1101-1200 14 1150.5 +3 42 126
2f=150 2fU=-3 >fU% =499
Mean, X =

X =

Standard deviation, S =

lehaIBBEH6 PBUIG hH GuIFmHUIOD [

A +[ U |x C

>f
850.5+(-13/150) x 100
841.83 (2 350 HTaNHIH60)
R

xf xf
100 ><j(499/ 150) - (-13 / 150)?
182.19 2 &5I0 FHTaHa60)

= (4,990,000 / 150) - (-1300 / 150)*
33,191.56
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(b) weop 1 Ozfley 1 : FIUULL L6

1 2 3 4 5
84000 78000 72000 66000 63000

waetalsl Gxflelbarear Bar sBEutensw waHllsmu NPV eaers0smsis.
Then;

NPV, = 84000 x 0.943 + 78000 x 0.890 + 72000 x 0.840 + 66000 % 0.792 + 63000 x 0.747
(Sl Leusnsmiulled BIRISET H6iEHLIY STTewienulll GLBGsusH(BLD.)
NPV, = . 308,445/-

1 2 3 4 5
73000 73000 73000 73000 73000

Ozfla 2 : Lemewmd L6
1

waeoraugl LflelBarer Har SBOUTemsW WwHULemL NPV2 eeardbssiis.
NPV, =73000 x Cum DCF (5, 6%)
(SI' Leusmemiuiled GLBGsem(BLD.)
NPV, =73000 x 4.212
=m. 307,476/-
NPV, <NPV,
S @yewiLmeugl O fleurengl Wded QUTmSSLOTe CHFleuT@Lb.

(penB 2
QU(HL_LD 1 2 3 4 5

Sl L sLet - Ogifley 1

(P60 60,000 60,000 60,000 60,000 60,000

au'1g 24,000 18,000 12,000 6,000 3,000
84,000 78,000 72,000 66,000 63,000
0.943 0.890 0.840 0.792 0.747

308,445 79,212 69,420 60,480 52,272 47,061

Caifley 11

ggg’gi”g'afmé 73,000 73,000 73,000 73,000 73,000
0.943 0.890 0.840 0.792 0.747

307,476 68,839 64,970 61,320 57,816 54,531

S Oseb GuTmsswTer Ofley : OFHfley 2
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allem 03B@ UfbHenTHSULLL  ellenL&6iT.

@ wop 1
AywE gL C(x) =75000 -+ 100x - 0.03x* + 0.000004x3
. GTe0EMEVATWIF ST MC =d [C(X)]
dx
MC =100 -0.03(2x) + 0.000004 (3x?)
=100 - 0.06x + 0.000012x>
CaxeiallFamiL P(x) =200-0.005x
. SUBLOTIFSFTTL R(x) =200x-0.005x2[..R(x) =P(x) x x]
.’ .6T60EM VS (HLOT VI F T L MR = d [Rx)]

dx
MR =200 -0.005(2x)
MR  =200-0.01x
.. QOTUEFFTTL = UBLOTENF &L - SJwF &y - Px) =R®Xx)-C®X)
P(x) =(200x - 0.005x2) - (75000 + 100x - 0.03x> + 0.000004x>)
=200x - 0.005x2 - 75000 - 100x + 0.03x? - 0.000004x>
P(x) =-0.000004x*+ 0.025x>+ 100x - 75000
J6UEMEY  EY6VMLIFFITTL] MP = d [P(X)]
dx
=-0.000004(3x2) + 0.025(2x) + 100(1)
=-000012x>+ 0.05x + 100

wpenp 11

QUBLOTETD(&Fi) LBpId Reorudle) &myl

R(x) =x(200 — 0.005x) =200x —0.005x> ................ (1)

P(x) =200x 0.005x? — (75000 + 100x — 0.03x* + 0.000004x°)
=-75,000 + 100x + 0.025x%> — 0.000004x> .....................(2)

61606M6Y &ML

C(x) =100 - 0.06x | 0.000012x2

R’(x) =200-0.01x

P’(x) =100 + 0.05x — 0.000012x>

(b) Gummer A ulsit SeoGelenev X eraiaid WBBID QUTmHeT B ullel Siev@eleney y sleia)d QET6is.

Then,
5x+8y =350 .......... (D)
X =y+5 s )

) g (1) BBeU ugors
S(y+5)+8y =350

5y+25+8y = 350
By = 325
y = . 25
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2 @edmphal
X =25+5
=ep. 30

elem 04B@ UfbSHMISSILLIL  6lenLde6il.

(@) b (LB6LeSuled)

25

20

15

10

[ e i s
Dg_mmmjmnbmamb

D GIGUFTULID

- B8é sibuefissi

B i o i inoremissai

M o

(b)
WS B UMBSH6IT @h. (Levedluienr) LITen& FSHaIHLD
D&t BEBID FH) 12 54° 15%
® awie) LOBWILD LITEID 18 81° 22.5%
alleugmuib 22 99" 27.5%
BB BLDLIGT B 61T 8 36° 10%
QUITHL&6IT OBBILD BT LOTEIHIS 6T 9 40.5 =40" 11.25%
Goug 1 49.5 =50" 13.75%
QLOTESID 80 36’ 100%

AAl/QMB

elwmumySHNSTET Herflaluisd (LPeME6IT




[ ] e wimib sa5

D 2 W6 LOBWID LITEMD

I:] GlGUFMLID

- B8é siLiefas

B G it b Gnoemmse
22% B e

11%

10%

(b 1= . 10,000 .
1 2 3

(1) FHLLb wullsiiung, (paliyeyl =P(1 +nr)
Gupomend, A =10,000 (1 + 3 x 0.05)
=m. 11,500
(i1) FHULID 1euflsiLig, den_bHaH =P (1+r)"-10,000

Gouemrigul GLOTHFHAIL 19

=10,000 (1 + 0.05)* - 10,000
=11,576.25 - 10,000
=m. 1,576.25

(i11) ol guier efenerbdmei aisio ERI =1 +r/MH-1
=(14+0.05/2)*-1
=(1.025)*-1
=0.0506
=5.06%
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allemm 05B@ UfbHenTHBULLL  ellenL&6iT.

QU(HL_LD SITOTERI(D)
Q1 Q2 Q3 Q4

2010 - - 0.99 1.25

2011 0.86 0.88 1.02 1.03

2012 1.00 0.93 1.00 1.13

2013 0.93 0.92 1.05 1.10

2014 0.92 0.96 - -

(AT £:5%: 5T 3.7 3.69 4.06 4.51

e 0.9275 0.9225 1.015 1.1275 3.9925
0.9275x 4 0.9225x4 | 1.015x4 1.1275 x 4
3.9925 3.9925 3.9925 3.9925 3.9999 == 4
0.9292 0.9242 1.0169 1.1296

LI(TH6USIT6V&L L9 &6IT 93% 92% 102% 113% 400%

ifley B @eit Blenmey
AAl1/QMB elwrurysHNaTen Seolweiuwied (LpenmaEe6iT




uga - C
Absl ugHuied o eiten 01 elemalBe elenL welds.
(28 yeiteriisit)

elleorm 06B3@& LIfibgHienrsaill L ellenLdeil.

(@)

am@&naﬁ;ﬂ;@gj};nm allenev edpLeva P o Po Qo
QuITpL_BeiT
2014 2015 2014 2015
FoLopHg! 850 1150 1100 980 1,265,000 935,000
DI EC) 600 610 500 500 305,000 300,000
@O\B6IT 450 350 1400 1650 490,000 630,000
2,060,000 | 1,865,000
BlenpGuIBmILIL L = 2P q, * 100
QTHHelensvdF il GIL 6wt 2P q,
= 2,060,000 x 100
1,865,000
= 110.46% =~ 110%
(b)
Gyt BNG FH6iTEmpLLg QFuIiL L FH6iEmpLg QFuuiiu’ L
b oL Lmuiey &g o I umdiey (10%) &ra o I utdiey (20%)
eU(pLLD 0 -50,000.00 -50,000.00 -50,000.00
eUpLLD 1 15,000.00 13,636.36 12,500.00
GU(HLLD 2 20,000.00 16,528.93 13,888.89
QU(HLLD 3 25,000.00 18,782.87 14,467.59
QU(HLLD 4 18,000.00 12,294.24 8,680.56
BHar sBéuremgul GBI 11,242.40 -462.96

Crwenm “NPV” @m@ 10% sHeitemLigu|bd, siglifosns “NPV” @ba@ 20% seitenUigud sulphisliLBelend
BHTE(PIREBBEI. 6TiBal GHHATHMSH LweBhHS 2 1 Ambusd efsid (IRR) senflds  (1piguib.
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o I FHmbusv afsd (IRR)

N, -N,
= -474 x 15-4916 x 20
-474 - 4916
= -105430
- 5390
= 19.56%

(c) (1) meweowimen &yl =120,000 + 175,000 + 500,000 + 105,000
= . 900,000
OTEID &b =10000Q + 1000Q?
L QTeHss SHwd = omEid SFwid + Bleweowme &Syl

L Qorsss Aywn = 1000Q? + 10000Q + 900,000

(i)
QOTHSH  6UHLOTEITLD = oI0@ NBUMeT a6y + DIV SH6I6  6l6ut6u Hend
TR = (-1000Q + 120,000) x Q
=-1000Q? + 120,000Q

Fouurl Bl yetel  Qotdsds Sgud = QOTHSH  6UHLOTEITLD
1000Q* + 10000Q + 900,000  =-1000Q*+ 120000Q
2000Q? - 110,000Q + 900,000 =0

+2000, Q?-55Q +450 =0
(Q-10)(Q-45) =0
Q=10 sevevm Q=45
LTS MHS FOUUTL (B Semilul stentenidsnsd 10 wmpib 45

(iii) &evmuo P = OWTHSH QIHIDTEND - OIDTHSHEH &FuID
P = (-1000Q? + 120000Q) - (1000Q?* + 10000Q + 900,000)
P =-2000Q? + 110000Q - 900,000

dP / dQ = -2000(2Q) + 110000 x 1 - 0
— -4000Q + 110000
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When dP / dQ = 0;
-4000Q + 110000 =0
110000 =4000Q

Q=275

&P / dQ? =-4000 x 1 + 0 = -4000
AtQ =275

&P / dQ? — 4000 < 0

s Q=275 fssbamiguisl

S @eomud SIRBNEGD semianliames = 28(SimaesTen (LD  6T6wT)

@eorud iFHsfEGL elemev, P =-1000 (27.5) + 120000
=ep. 92,500

9fley C @eit Flenmey
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Notice :

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.

The fundamental objective of this publication is to add completeness to its series of study texts,
designs especially for the benefit of those students who are engaged in self-studies. These are
intended to assist them with the exploration of the relevant subject matter and further enhance their

understanding as well as stay relevant in the art of answering questions at examination level.

© 2014 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
All rights reserved. No part of this document may be reproduced or transmitted in any form or by
any means, electronic, mechanical, photocopying, recording or otherwise without prior written

permission of the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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